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Question Number : 1 Question Id : 2549896855 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Random Access Memory (RAM) is a _______ type of memory.
Options :
1.  short-term

2.  permanent

3.  flash

4.  smart

   

Question Number : 1 Question Id : 2549896855 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
रैंडम ए·ससे मेमोरी (RAM) एक _______ Ēकार की मेमोरी है।
Options :
1.  लघु अविध (शाटµ-टमµ)
2.  ×थायी (परमानƶट)
3.  Ìलशै
4.  ×माटµ
   

Question Number : 2 Question Id : 2549896998 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Three types of compact disks include CD, CD-R and ______.
Options :
1.  CD-W

2.  CD-RAM

3.  CD-DVD

4.  CD-RW



   

Question Number : 2 Question Id : 2549896998 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
CD, CD-R और _____ ये कॉÏपै·ट िड×क के तीन Ēकार हैं।
Options :
1.  CD-W

2.  CD-RAM

3.  CD-DVD

4.  CD-RW

   

Question Number : 3 Question Id : 2549897148 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following app the best way to write quick notes on your Windows 10 desktop by 
signing up with Microsoft account?
Options :
1.  Sticky pad

2.  Adobe Reader

3.  Sticky notes

4.  Sketchbook

   

Question Number : 3 Question Id : 2549897148 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन सा ऐप Microsoft खाते के साथ साइन अप करके आपके िवंडोज 10 डे×कटॉप पर Æविरत नोट्स िलखने का 
सबसे अ¼छा तरीका है?
Options :
1.  ि×टकी पैड
2.  एडोबी रीडर
3.  ि×टकी नोट्स
4.  ×केचबुक
   

Question Number : 4 Question Id : 2549897528 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcut is used for selecting to the right word by word in Open 
Office Writer?
Options :
1.  Arrow Right



2.  Shift + Arrow Right

3.  Ctrl + Shift + Arrow Right

4.  Ctrl + Arrow Right

   

Question Number : 4 Question Id : 2549897528 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ओपन ऑिफस राइटर मƶ शÍद दर शÍद दाǍ ओर चयन करने के िलए िनÏनिलिखत मƶ से िकस कीबोडµ शॉटµकट का उपयोग िकया जाता 
है?
Options :
1.  Arrow Right

2.  Shift+Arrow Right

3.  Ctrl+Shift+Arrow Right

4.  Ctrl+Arrow Right

   

Question Number : 5 Question Id : 2549898463 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which function returns the matrix inverse of an array in MS-Excel 2019?
Options :
1.  MINV function

2.  MINVERSE function

3.  INVM function

4.  INVERSEM function

   

Question Number : 5 Question Id : 2549898463 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 मƶ, कौन-सा फं·शन ऐरे का Ēितलोम मैिĈ·स देता है?
Options :
1.  MINV फं·शन
2.  MINVERSE फं·शन
3.  INVM फं·शन
4.  INVERSEM फं·शन
   

Question Number : 6 Question Id : 2549899322 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
_______ is generally used to play fast computer games.
Options :



1.  Track ball

2.  Joystick

3.  Touch surface

4.  Touch screen

   

Question Number : 6 Question Id : 2549899322 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
_______ का उपयोग आमतौर पर ते_ कंËयूटर गेम खेलने के िलए िकया जाता है।
Options :
1.  Ĉैक बॉल
2.  जॉयि×टक
3.  टच सरफेस
4.  टच ×þीन
   

Question Number : 7 Question Id : 25498911601 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
_______ is used for storing programs and data currently being processed by the CPU.
Options :
1.  Mass memory

2.  RAM

3.  ROM

4.  PROM

   

Question Number : 7 Question Id : 25498911601 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
वतµमान मƶ सीपीयू (CPU) Ǽारा संसािधत ĒोĀामǂ और डेटा को संĀहीत करने के िलए कौन-सी कंËयटूर मेमोरी का उपयोग िकया जाता 
है?
Options :
1.  मास मेमोरी (Mass Memory)

2.  RAM

3.  ROM

4.  PROM

   

Question Number : 8 Question Id : 25498911739 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following programming language is used in general for Artificial intelligence based 



problems?
Options :
1.  C

2.  Python

3.  Assembly

4.  BASIC

   

Question Number : 8 Question Id : 25498911739 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
आिटंिफिशयल इंटेिलजƶस आधािरत सम×याǓ के िलए िनÏनिलिखत मƶ से कौन सी ĒोĀािमंग भाषा का सामाÊय ƞप से उपयोग िकया 
जाता है?
Options :
1.  C

2.  पाइथन (Python)

3.  असƶबली (Assembly)

4.  बेिसक (BASIC)

   

Question Number : 9 Question Id : 25498911806 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
There are three types of data found in a spreadsheet:
Options :
1.  Number, Text and Logical

2.  Data, Words and Object

3.  Data, Numbers and Labels

4.  Equation, Data and Object

   

Question Number : 9 Question Id : 25498911806 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
×Ēेडशीट मƶ िनÏन मƶ से कौन-से तीन Ēकार के डेटा पाए जाते हैं?
Options :
1.  नंबसµ, टे·×ट और लॉिजकल
2.  डेटा, वड्µस और ऑÍजे·ट
3.  डेटा, नंबसµ और लेबल
4.  ई·वशेन, डेटा और ऑÍज·ेट
   

Question Number : 10 Question Id : 25498913719 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following has the .xps file extension?
Options :
1.  XML paper specification

2.  Microsoft Word

3.  Notepad

4.  Microsoft Excel

   

Question Number : 10 Question Id : 25498913719 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से िकसका bाइल ए·सटƶशन .xps होता है?
Options :
1.  ए·सएमएल पेपर ×पेिसिफकेशन (XML paper specification)

2.  माइþोसॉÌट वडµ (Microsoft Word)

3.  नोटपैड (Notepad)

4.  माइþोसॉÌट ए·सेल (Microsoft Excel)

   

Question Number : 11 Question Id : 25498929733 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is false with reference to memory unit of a computer system?
Options :
1.  The Memory unit can be categorized in two ways namely, primary memory and secondary 
memory

2.  Secondary storage is the fastest memory than primary memory that operates at electronic 
speeds

3.  The most common examples of primary memory are RAM and ROM

4.  Secondary memory is used when a large amount of data and programs have to be stored for 
a long-term basis

   

Question Number : 11 Question Id : 25498929733 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
कंËयटूर िस×टम की मेमोरी यिूनट के संदभµ मƶ िनÏनिलिखत मƶ से कौन सा गलत है?
Options :
1.  मेमोरी यूिनट को दो तरह से वगƮकृत िकया जा सकता है, Ēाइमरी मेमोरी और सेकƶ डरी मेमोरी
2.  सकेƶ डरी ×टोरेज Ēाइमरी मेमोरी की तुलना मƶ सबसे ते_ मेमोरी है जो इले·Ĉॉिनक गित से संचािलत होती है
3.  Ēाइमरी मेमोरी के सबसे आम उदाहरण RAM और ROM हैं



4.  सकेƶ डरी मेमोरी का उपयोग तब िकया जाता है जब ब`ी माčा मƶ डेटा और ĒोĀाम को दीघµकािलक आधार पर संĀहीत करना 
होता है
   

Question Number : 12 Question Id : 25498929742 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
________ defines the rights of individual users or organisations to keep their personal data and 
information secret.
Options :
1.  Phishing

2.  Data Privacy

3.  Software piracy

4.  Spamming

   

Question Number : 12 Question Id : 25498929742 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
________, ȅिǣगत उपयोगकताµǓ या संगठनǂ के अपने ȅिǣगत डेटा और सूचना को गुËत रखने के अिधकारǂ को पिरभािषत करता 
है।
Options :
1.  िbिशंग
2.  डेटा Ēाइवेसी
3.  सॉÌटवेयर पायरेसी
4.  ×पिैमंग
   

Question Number : 13 Question Id : 25498929844 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following does NOT represent a barcode reader type?
Options :
1.  CCD

2.  Laser

3.  Device-Driver scanner

4.  Pen-type

   

Question Number : 13 Question Id : 25498929844 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन सा बारकोड रीडर का एक Ēकार नहƭ है?
Options :



1.  सीसीडी (CCD)

2.  ल_ेर
3.  िडवाइस-Ċाइवर ×कैनर
4.  पेन-टाइप
   

Question Number : 14 Question Id : 25498930885 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a rule listed in the ten commandments of computer ethics as 
defined by the Computer Ethics 
Institute?
Options :
1.  Thou shall not use a computer to steal.

2.  Thou shall snoop through other people's computer files.

3.  Thou shall not use a computer to bear false witness.

4.  Thou shall not appropriate other people's intellectual output.

   

Question Number : 14 Question Id : 25498930885 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
कंËयटूर नैितकता सं×थान Ǽारा पिरभािषत कंËयटूर नैितकता की दस कंमांडमƶट्स मƶ िनÏनिलिखत मƶ से कौन-सा िनयम सूचीबǽ नहƭ है?
Options :
1.  आप कंËयूटर का उपयोग चोरी करने के िलए नहƭ करƶगे।
2.  आप अÊय लोगǂ की कंËयटूर bाइलǂ के माÉयम से ताक-झांक करƶगे।
3.  आप झठूी गवाही देने के िलए कंËयटूर का उपयोग नहƭ करƶगे।
4.  आप अÊय लोगǂ के बौिǽक पिरणाम को उिचत नहƭ ठहराएगें।
   

Question Number : 15 Question Id : 25498931059 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The primary function of which unit is to send the processed results to the user?
Options :
1.  Input unit

2.  Output unit

3.  ALU

4.  Memory unit

   

Question Number : 15 Question Id : 25498931059 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



िकस यिूनट का Ēाथिमक कायµ उपयोगकताµ को संसािधत पिरणाम भेजना है?
Options :
1.  इनपुट यूिनट
2.  आउटपुट यिूनट
3.  एएलयू (ALU)

4.  मेमोरी यूिनट
   

Question Number : 16 Question Id : 2549898802 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ is a network located entirely on one site such as an office, school or within a group of 
buildings that are in close area, that are connected together.
Options :
1.  LAN

2.  PAN

3.  MAN

4.  WAN

   

Question Number : 16 Question Id : 2549898802 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
____________ एक नेटवकµ  है, जो पूरी तरह से एक ही साइट जैसे; कायाµलय, ×कूल या आपस मƶ जु`ी Ɠई िनकटवतƮ इमारतǂ के समूह 
पर ि×थत होता है।
Options :
1.  LAN

2.  PAN

3.  MAN

4.  WAN

   

Question Number : 17 Question Id : 2549899519 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the Decimal Equivalent of the given Octal Number (60)8 ?
Options :
1.  60

2.  48

3.  64

4.  84

   

Question Number : 17 Question Id : 2549899519 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
दी गई अȌक सं̧ या (60)8 का दशमलव समतुÒय ·या है?
Options :
1.  60

2.  48

3.  64

4.  84

   

Question Number : 18 Question Id : 2549899545 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Who among the following is famously associated with the Facebook as a founder?
Options :
1.  Mark Zuckerberg

2.  Tim Berners-Lee

3.  Charles Babbage

4.  Paul Buchheit

   

Question Number : 18 Question Id : 2549899545 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन फेसबुक के स×ंथापक के ƞप मƶ Ēिसǽ है?
Options :
1.  माकµ  जुकरबगµ
2.  िटम बनµसµ-ली 
3.  चाÒसµ बैबेज
4.  पॉल बुचेइट
   

Question Number : 19 Question Id : 25498910866 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The full form of CC in an email is _________.
Options :
1.  corrected copy

2.  cancelled copy

3.  curation copy

4.  carbon copy

   



Question Number : 19 Question Id : 25498910866 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ई-मेल मƶ CC का पूणµƞप ·या होता है?
Options :
1.  corrected copy (करे·टेड कॉपी)
2.  cancelled copy (कैं िसÒड कॉपी)
3.  curation copy (·यरूेशन कॉपी)
4.  carbon copy (काबµन कॉपी)
   

Question Number : 20 Question Id : 25498911232 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A file-infecting virus infects files with _______ extensions.
Options :
1.  .exe and .com

2.  .doc and .xls

3.  .ppt and .pxs

4.  .y2k and .wmk

   

Question Number : 20 Question Id : 25498911232 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एक फाइल-संþिमत वायरस _______ ए·सटƶशन वाली फाइलǂ को सþंिमत करता है।
Options :
1.  .exe और .com

2.  .doc और .xls

3.  .ppt और .pxs

4.  .y2k और .wmk

   

Question Number : 21 Question Id : 25498913432 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the MPEG compression technique?
Options :
1.  MPEG-1

2.  MPEG-2

3.  MPEG-4

4.  MPEG-12



   

Question Number : 21 Question Id : 25498913432 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से कौन सी एक MPEG संपीडन तकनीक नहƭ है?
Options :
1.  MPEG-1

2.  MPEG-2

3.  MPEG-4

4.  MPEG-12

   

Question Number : 22 Question Id : 25498913505 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In the output gain of audio compression controls, if the audio signal has been compressed, the 
overall level of the signal will be _______.
Options :
1.  maintained

2.  reduced

3.  increased

4.  ignored

   

Question Number : 22 Question Id : 25498913505 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ऑिडयो संपीडन िनयंčण के आउटपुट गेन मƶ, यिद ऑिडयो िस¹नल को संपीिडत िकया जाता है, तो िस¹नल के समĀ ×तर पर ·या 
Ēभाव प`ेगा?
Options :
1.  एक िनयत ×तर पर बरकरार रहेगा
2.  घट जाएगा
3.  बa जाएगा
4.  कोई Ēभाव नहƭ प`ेगा
   

Question Number : 23 Question Id : 25498913843 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The ______ helps the user to detect any changes made to the original file.
Options :
1.  File Type Monitoring

2.  File Hash Monitoring



3.  File Integrity Monitoring

4.  File Authenticity Monitoring

   

Question Number : 23 Question Id : 25498913843 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ उपयोगकताµ को मूल bाइल (Original File) मƶ िकए गए िकसी भी बदलाव का पता लगाने मƶ मदद करता है।
Options :
1.  फाइल टाइप मॉिनटिरंग (File Type Monitoring)

2.  फाइल हैश मॉिनटिरंग (File Hash Monitoring)

3.  फाइल इंटीिĀटी मॉिनटिरगं (File Integrity Monitoring)

4.  फाइल ऑथƶिटिसटी मॉिनटिरगं (File Authenticity Monitoring)

   

Question Number : 24 Question Id : 25498918510 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The first computer virus was called _______, which was written by Richard Skrenta.
Options :
1.  Danish Boot

2.  Elk Cloner

3.  Melissa.A

4.  Mr. Klunky

   

Question Number : 24 Question Id : 25498918510 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
___________ नामक पहला कंËयटूर वायरस िरचडµ ×þेÊट (Richard Skrenta) Ǽारा िलखा गया था।
Options :
1.  Danish Boot

2.  Elk Cloner

3.  Melissa.A

4.  Mr. Klunky

   

Question Number : 25 Question Id : 25498922653 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The Advanced Boot Options screen can be started by pressing the ____ key before Windows starts.
Options :
1.  F8 

2.  F7



3.  F4

4.  F1

   

Question Number : 25 Question Id : 25498922653 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िवंडो_ के चालू होने से पहले ____ की को दबाकर एडवां×ड बूट ऑËशंस ×þीन खोली जा सकती है।
Options :
1.  F8

2.  F7

3.  F4

4.  F1

   

Question Number : 26 Question Id : 25498924073 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the full form of SSL?
Options :
1.  Secure Socket Layer

2.  Secure Standard Layer

3.  Secure Socket Location

4.  Safe Socket Layer

   

Question Number : 26 Question Id : 25498924073 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
SSL का पूणµƞप ·या है?
Options :
1.  Secure Socket Layer (िस·योर सॉकेट लेयर)
2.  Secure Standard Layer (िस·योर ×टैंडडµ लेयर)
3.  Secure Socket Location (िस·योर सॉकेट लोकेशन)
4.  Safe Socket Layer (सेफ सॉकेट लेयर)
   

Question Number : 27 Question Id : 25498924313 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The _______________ virus can affect both the boot sector and the program files at the same time.
Options :
1.  Polyboot.B

2.  Boot Sector



3.  Multipartite

4.  Macro

   

Question Number : 27 Question Id : 25498924313 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
___________ वायरस एक ही समय मƶ बूट स·ेटर और ĒोĀाम फाइल दोनǂ को Ēभािवत कर सकता है।
Options :
1.  पॉलीबूट.बी (Polyboot.B)

2.  बूट स·ेटर (Boot Sector)

3.  मÒटीपारटाइट (Multipartite)

4.  मैþो (Macro)

   

Question Number : 28 Question Id : 25498924458 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
You can choose to create a ______ that will appear at the end of every email we send, either as a 
contact information or a favorite quote.
Options :
1.  signature

2.  subject

3.  formatting options

4.  attachments

   

Question Number : 28 Question Id : 25498924458 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
आप एक ______ बनाना चुन सकते हैं जो हमारे Ǽारा भेजे जाने वाले ĒÆयके ईमेल के अंत मƶ, संपकµ  जानकारी या पसदंीदा उǽरण के 
ƞप मƶ िदखाई देगा।
Options :
1.  signature (िस¹नेचर)
2.  subject (सÍजे·ट)
3.  formatting options (फॉमƷिटंग ऑËशंस)
4.  attachments (अटैचमƶट्स)
   

Question Number : 29 Question Id : 25498924593 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
EPS file format represents which of the below file?
Options :



1.  Encapsulated PostScript

2.  Audio File

3.  Programming/Scripting file

4.  Hypertext file

   

Question Number : 29 Question Id : 25498924593 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
EPS फाइल फॉमƷट, िनÏनिलिखत मƶ से िकस फाइल को ȅǣ करता है?
Options :
1.  एनकैपसुलेटेड पो×ट ि×þËट (Encapsulated PostScript)

2.  ऑिडयो फाइल (Audio File)

3.  ĒोĀािमंग/ि×þिËटंग फाइल (Programming/Scripting file)

4.  हाइपरटे·×ट फाइल (Hypertext file)

   

Question Number : 30 Question Id : 25498940434 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Testing any software or an application according to the client's needs without using any 
automation tool is known as ________ testing.
Options :
1.  automation

2.  mechanical

3.  manual

4.  automatic

   

Question Number : 30 Question Id : 25498940434 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िकसी ऑटोमेशन टूल का उपयोग िकए िबना ·लाइंट की जƞरतǂ के अनुसार िकसी सॉÌटवेयर या एिËलकेशन का परी³ण (Testing) 
करना ________ परी³ण (Testing) के ƞप मƶ जाना जाता है।
Options :
1.  ऑटोमेशन
2.  मैकेिनकल
3.  मैÊयअुल
4.  आटोमेिटक
   

Question Number : 31 Question Id : 2549897228 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Who among the following is the co-founder of Twitter?
Options :
1.  Jack Dorsey

2.  Andrew McCollum

3.  Jimmy Wales

4.  Steven Levy

   

Question Number : 31 Question Id : 2549897228 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन ट्िवटर के सह स×ंथापक है?
Options :
1.  जैक डॉसƮ
2.  एडंʑ मै·कलम
3.  िजमी वÒेस
4.  ×टीवेन लेवी
   

Question Number : 32 Question Id : 2549897806 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is used to search other websites by typing a keyword?
Options :
1.  Social networks

2.  Search engine

3.  Routers

4.  Protocols

   

Question Number : 32 Question Id : 2549897806 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से िकसका उपयोग कीवडµ टाइप करके अÊय वेबसाइटǂ को खोजने के िलए िकया जाता है?
Options :
1.  सोशल नेटवकµ
2.  सचµ इंजन
3.  राउटसµ
4.  Ēोटोकॉल
   

Question Number : 33 Question Id : 2549897981 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is a communication service on Internet?
Options :
1.  Web services

2.  Telnet

3.  FTP

4.  Gopher

   

Question Number : 33 Question Id : 2549897981 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन सी इंटरनेट पर संचार सेवा है?
Options :
1.  वेब सेवाएं
2.  टेलनेट
3.  एbटीपी (FTP)

4.  धानीमूष (Gopher)

   

Question Number : 34 Question Id : 2549898010 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the use of a UPI PIN in BHIM?
Options :
1.  Authenticate all bank transactions

2.  Encrypt all bank transactions

3.  Decrypt all bank transactions

4.  Scan all bank transactions

   

Question Number : 34 Question Id : 2549898010 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
भीम (BHIM) मƶ यू.पी.आई (UPI) िपन की ·या उपयोिगता है?
Options :
1.  सभी बैंक लेनदेन को Ēमािणत करना
2.  सम×त बैंक लेनदेन को एिÊþËट करना
3.  सम×त बैंक लेनदेन को िडिþËट करना
4.  सम×त बैंक लेनदेन को ×कैन करना
   



Question Number : 35 Question Id : 25498911064 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to decrease font size in Microsoft Word 2010?
Options :
1.  Ctrl + F + >

2.  Ctrl + Shift + <

3.  Ctrl + >

4.  Ctrl + F + <

   

Question Number : 35 Question Id : 25498911064 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
माइþोसॉÌट Word 2010 मƶ, bॉÊट के आकार को कम करने के िलए उपयोग िकया जाने वाला कीबोडµ शॉटµकट ·या है?
Options :
1.  Ctrl + F + >

2.  Ctrl + Shift + <

3.  Ctrl + >

4.  Ctrl + F + <

   

Question Number : 36 Question Id : 25498911067 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What Does TrueType Font mean?
Options :
1.  It is a type of protocol

2.  It is a type of file extension

3.  It is a type of computer language

4.  It is a font standard used in Microsoft and Apple OS

   

Question Number : 36 Question Id : 25498911067 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
टʔ टाइप bॉÊट का ·या अथµ है?
Options :
1.  यह एक Ēकार का Ēोटोकॉल है।
2.  यह एक Ēकार का फाइल ए·सटƶशन है।
3.  यह एक Ēकार की कंËयटूर भाषा है।
4.  यह Microsoft और Apple OS मƶ उपयोग िकया जाने वाला एक bॉÊट मानक है।
   



Question Number : 37 Question Id : 25498911084 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
How many levels of indented text can appear in a multilevel list in an MS-Word 2010 document?
Options :
1.  Nine

2.  Seven

3.  Eight

4.  Ten

   

Question Number : 37 Question Id : 25498911084 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एक MS-Word 2010 डॉ·यमुƶट मƶ एक बƓ×तरीय सूची मƶ इंडƶट िकए गए टे·×ट के िकतने ×तर िदखाई दे सकते हैं?
Options :
1.  नौ (9)
2.  सात (7)
3.  आठ (8)
4.  दस (10)
   

Question Number : 38 Question Id : 25498911510 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements in Microsoft Word is correct?
Options :
1.  Capitalize names of days

2.  Capitalize last letter of table cells

3.  Capitalize last letter of sentences

4.  Correct THree INitial CApitals

   

Question Number : 38 Question Id : 25498911510 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Word मƶ िनÏनिलिखत मƶ से कौन-सा कथन सही है?
Options :
1.  Capitalize names of days (कैिपटलाइ_ नेÏस ऑb डेज)
2.  Capitalize last letter of table cells (कैिपटलाइ_ ला×ट लेटर ऑb टेबल सÒेस)
3.  Capitalize last letter of sentences (कैिपटलाइ_ ला×ट लेटर ऑb सेÊटेÊसेस)
4.  Correct THree INitial CApitals (कर·ेट Ďी इिनिशयल कैिपटÒस)



   

Question Number : 39 Question Id : 25498911850 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
While working with line and paragraph spacing in the Paragraph group, you can use Microsoft 
Word document's ______ feature to save all of the formatting changes you made and automatically 
apply them to new documents. 
Options :
1.  Set as Default 

2.  Apply

3.  Ok

4.  Tabs

   

Question Number : 39 Question Id : 25498911850 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
पैराĀाफ Āुप मƶ लाइन और पैराĀाफ ×पेिसगं के साथ काम करते समय, आप माइþोसॉÌट Word डॉ·यमुƶट के ______ फीचर का 
उपयोग अपने Ǽारा िकए गए सभी फॉमƷिटंग पिरवतµनǂ को सेव करने के िलए कर सकते हैं और ×वचािलत ƞप से उÊहƶ नए डॉ·युमƶट पर 
लागू कर सकते हैं।
Options :
1.  सेट एस िडbॉÒट (Set as Default)

2.  एËलाय (Apply)

3.  ओके (Ok)

4.  टैÍस (Tabs)

   

Question Number : 40 Question Id : 25498911866 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select _____________ to see a list of all changes next to your document while tracking changes in the 
MS-Word 2019.
Options :
1.  Reviewing Pane Above

2.  Reviewing Pane Below

3.  Reviewing Pane Horizontal

4.  Reviewing Pane Vertical

   

Question Number : 40 Question Id : 25498911866 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 मƶ पिरवतµनǂ को Ĉैक करते समय अपने द×तावे_ के आगे सभी पिरवतµनǂ की सूची देखने के िलए _____________ 
चुनƶ।



Options :
1.  Reviewing Pane Above

2.  Reviewing Pane Below

3.  Reviewing Pane Horizontal

4.  Reviewing Pane Vertical

   

Question Number : 41 Question Id : 25498911895 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ view in Microsoft Word 2019 displays the original document without tracked changes and 
comments showing. However, any tracked changes or comments in the document that have not 
been accepted, rejected or deleted remain in the document.
Options :
1.  Final Showing Markup

2.  Final

3.  Original

4.  Original Showing Markup

   

Question Number : 41 Question Id : 25498911895 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
माइþोसॉÌट वडµ 2019 मƶ ______ ȅू, Ĉैक िकए गए पिरवतµनǂ (चƶज) और िटËपिणयǂ (कमƶट्स) को िदखाए िबना मूल डॉ·यमुƶट Ēदिशंत 
करता है। हालाँिक, डॉ·यमूƶट मƶ िकया गया कोई भी Ĉैक पिरवतµन (चƶज) या िटËपिणयाँ (कमƶट्स) िजÊहƶ ×वीकार, अ×वीकार या हटाया 
(िडलीट िकया) नहƭ गया है, वह डॉ·युमƶट मƶ बनी रहती हैं।
Options :
1.  फाइनल शोिवगं माकµ अप
2.  फाइनल
3.  ओिरिजनल
4.  ओिरिजनल शोिवंग माकµ अप
   

Question Number : 42 Question Id : 25498925260 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The _____ symbol is used to denote copyright.
Options :
1.  &

2.  @

3.  ©

4.  #

   



Question Number : 42 Question Id : 25498925260 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
कॉपीराइट को दशाµने के िलए _____ िचȑ का उपयोग िकया जाता है।
Options :
1.  &

2.  @

3.  ©

4.  #

   

Question Number : 43 Question Id : 25498938395 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The process by which URLs are modified and standardised in a consistent manner is called:
Options :
1.  URL modification

2.  URL support

3.  URL balancing

4.  URL normalisation

   

Question Number : 43 Question Id : 25498938395 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
उस Ēिþया को ·या कहते हैं िजसके तहत URL को सतत ƞप से संशोिधत और मानकीकृत िकया जाता है?
Options :
1.  URL संशोधन (modification)

2.  URL समथµन (support)

3.  URL संतुलन (balancing)

4.  URL सामाÊयीकरण (normalisation)

   

Question Number : 44 Question Id : 25498941475 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
To use the ______ in Microsoft Excel, bring the mouse pointer at the bottom right corner of the cell. 
It will change into a + sign. Left-click on it and drag it downwards to the required range of cells.
Options :
1.  Fill handle

2.  Pivot table

3.  Pointer

4.  Ribbon



   

Question Number : 44 Question Id : 25498941475 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
माइþोसॉÌट Excel मƶ, ______ का उपयोग करने के िलए माउस कसµर को सेल के िनचले दाए ंकोने मƶ लाए।ं यह एक + िचȑ मƶ बदल 
जाएगा। उस पर लेÌट-ि·लक करƶ और इसे नीचे की ओर खƭचकर आवÕयक सÒेस की रƶज मƶ ले जाए।ँ
Options :
1.  िफल हैंडल
2.  िपवट टेबल
3.  पॉइंटर
4.  िरबन
   

Question Number : 45 Question Id : 25498941484 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In Microsoft Excel 2019, if cell B2 contains the date of birth of a person, his/her age can be 
computed by ______.
Options :
1.  =AGE(B2, TODAY(),”Y”)

2.  =DATE(B2, TODAY(),”Y”)

3.  =DATE(TODAY(),B2,”Y”)

4.  =DATEDIF(B2, TODAY(),”Y”)

   

Question Number : 45 Question Id : 25498941484 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
माइþोसॉÌट Excel 2019 मƶ, यिद सेल B2 मƶ िकसी ȅिǣ की जÊमितिथ है, तो उसकी आयु की गणना ______ Ǽारा की जा सकती 
है।
Options :
1.  =AGE(B2, TODAY(),”Y”)

2.  =DATE(B2, TODAY(),”Y”)

3.  =DATE(TODAY(),B2,”Y”)

4.  =DATEDIF(B2, TODAY(),”Y”)

   

Question Number : 46 Question Id : 25498941493 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of steps for naming a range of cells in Microsoft Excel 2019.
Options :
1.  Data -> Data Tools group -> Text to Columns



2.  Formulas -> Defined Names group -> Define Name

3.  Home -> Cells group -> Format

4.  View -> Show group -> Headings

   

Question Number : 46 Question Id : 25498941493 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 मƶ सÒेस की रƶज के नामकरण के िलए चरणǂ के सही þम की पहचान करƶ।
Options :
1.  डेटा -> डेटा टूÒस Āुप -> टे·×ट टू कॉलÏस (Data -> Data Tools group -> Text to Columns)

2.  फॉमुµलास -> िडफाइंड नेÏस Āुप -> िडफाइन नेम (Formulas -> Defined Names group -> Define Name)

3.  होम -> सÒेस Āुप -> फॉमƷट (Home -> Cells group -> Format)

4.  ȅू -> शो Āुप -> हेिड¹ंस (View -> Show group -> Headings)

   

Question Number : 47 Question Id : 25498941501 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
An MS-Excel macro-enabled workbook has the filename extension ______.
Options :
1.  .xls

2.  .xlsm

3.  .xlss

4.  .xlsx

   

Question Number : 47 Question Id : 25498941501 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Excel मैþो-इनेबÒड वकµ बुक मƶ bाइल नेम ए·सटƶशन ______ होता है।
Options :
1.  .xls

2.  .xlsm

3.  .xlss

4.  .xlsx

   

Question Number : 48 Question Id : 25498941502 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The keyboard shortcut Alt + F11 ______ in Microsoft Excel 2019.
Options :
1.  closes the Developer tab



2.  executes a macro

3.  opens Help Menu for macros

4.  opens the Microsoft Visual Basic For Applications Editor

   

Question Number : 48 Question Id : 25498941502 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 मƶ कीबोडµ शॉटµकट Alt + F11 ______।
Options :
1.  डेवलपर टैब को बंद करता है
2.  मैþो को िनÖपािदत करता है
3.  मैþो_ के िलए हÒेप मेनू ओपन करता है
4.  एिËलकेशन एिडटर के िलए Microsoft Visual Basic खोलता है
   

Question Number : 49 Question Id : 25498941509 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcut in MS-Excel 2019 display the Create Table dialog box?
Options :
1.  Ctrl + L

2.  Alt + T

3.  Ctrl + Shift + T

4.  Ctrl + Alt + L

   

Question Number : 49 Question Id : 25498941509 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 मƶ िनÏनिलिखत मƶ से कौन सा कीबोडµ शॉटµकट िþएट टेबल डायलॉग बॉ·स Ēदिशंत करता है?
Options :
1.  Ctrl + L

2.  Alt + T

3.  Ctrl + Shift + T

4.  Ctrl + Alt + L

   

Question Number : 50 Question Id : 25498941524 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
By using regression analysis, you can extend a ______ in a chart beyond the actual data to predict 
the future values in Microsoft Excel 2019.
Options :



1.  bar

2.  gridline

3.  legend

4.  trendline

   

Question Number : 50 Question Id : 25498941524 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Ēितगमन िवȊषेण (िरĀेशन एनािलिसस) का उपयोग करके, आप MS-Excel 2019 मƶ भिवÖय के मूÒयǂ (Ìयूचर वैÒयू_) की 
भिवÖयवाणी करने के िलए एक चाटµ मƶ वा×तिवक डेटा से परे ______ का िव×तार कर सकते हैं।
Options :
1.  बार
2.  िĀडलाइन
3.  लीजƶड
4.  Ĉƶडलाइन
   

Question Number : 51 Question Id : 25498941545 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In Microsoft Office, how many levels of Undo operations can be done in a sequence?
Options :
1.  10

2.  50

3.  100

4.  127

   

Question Number : 51 Question Id : 25498941545 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MS Office मƶ एक þम मƶ Undo ऑपरेशंस को िकतने ×तरǂ तक िकया जा सकता है?
Options :
1.  10

2.  50

3.  100

4.  127

   

Question Number : 52 Question Id : 25498941553 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A background image can be added to an MS-Excel spreadsheet using the ______ tab.



Options :
1.  Home

2.  Insert

3.  Page Layout

4.  View

   

Question Number : 52 Question Id : 25498941553 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
बैकĀाउंड इमेज को ______ टैब का उपयोग करके MS-Excel ×Ēडेशीट मƶ जो`ा (ऐड िकया) जा सकता है।
Options :
1.  होम (Home)

2.  इÊसटµ (Insert)

3.  पेज लेआउट (Page Layout)

4.  ȅू (View)

   
   

READING COMPREHENSION
Section Id : 2549898058
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898099
Question Shuffling Allowed : No
   

Question Id : 25498921325 Question Type : COMPREHENSION Sub Question Shuffling Allowed 
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)
Read the given passage and answer the questions. 
 
Concentration is very important for doing a job well. Whether it is reading, writing, listening, 
playing a sport, singing, dancing, painting or any other task, it is essential to concentrate. But in 
today’s world of noise and distractions it is rare that we can work in an environment favourable to 
concentration. There are interruptions by means of television, loudspeakers, telephones, friends 
and relatives etc. So, we must recognise the importance of concentration and make efforts to 



develop it within ourselves. 
 
We can define concentration as undivided attention to something. It is easier to concentrate when 
we are doing something interesting because in such a case, we do not have to make a special 
effort to concentrate; attention follows automatically. Lack of concentration bothers us when we 
do not like or enjoy the job we are doing. 
 
Constant practice can help us to improve our concentration. We should try to sit down to work at a 
particular place and at a particular time. If we do that regularly, our mind gets used to working 
even in the midst of distractions. Reading is an excellent exercise to train our mind to concentrate. 
We should select difficult reading material so that our mind is fully occupied in trying to 
understand what we are reading. If we follow this practice daily, our concentration shall improve 
greatly. 
 
There is a constant flow of thoughts in our mind. As a result, our mind tends to wander. We must 
try to tackle one thing at a time. We must keep our body and mind relaxed. We must not allow 
depression, fear of failure, or any negative thoughts to affect our ability to concentrate. We should 
develop positive thinking and train our mind to concentrate. This will surely lead us to success.
Sub questions
 
Question Number : 53 Question Id : 25498921326 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
We do NOT require concentration for:
Options :
1.  reading

2.  singing

3.  playing

4.  laughing

 
Question Number : 54 Question Id : 25498921327 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of these can break our concentration?
Options :
1.  Relaxed body

2.  Loud sounds

3.  Calm mind

4.  A fixed routine

 
Question Number : 55 Question Id : 25498921328 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Concentration may be defined as:



Options :
1.  continuous labour

2.  continuous interruption

3.  undivided attention

4.  undivided distraction

 
Question Number : 56 Question Id : 25498921329 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1.  Concentration can be improved by keeping regular working hours.

2.  Concentration can be improved by letting the mind wander.

3.  Concentration can be improved by reading difficult texts.

4.  Concentration can be improved by doing one thing at a time.

 
Question Number : 57 Question Id : 25498921330 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What has an adverse effect on concentration?
Options :
1.  Fear of failure

2.  Hope of success

3.  Constant practice

4.  Steady mind

   

Question Id : 25498921325 Question Type : COMPREHENSION Sub Question Shuffling Allowed 
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)
िदए गए गȁांश को पaƶ  और उसके आधार पर Ēȋǂ के उǶर दƶ। 
िकसी कायµ को अ¼छी तरह से करने के िलए एकाĀता बƓत महÆवपणूµ है। पaने, िलखने, सुनने, कोई खेल खेलने, गायन, नृÆय, िचčकला 
या िकसी अÊय कायµ के िलए Éयान को एकाĀ करना अित आवÕयक है। लिेकन आजकल के कोलाहलपूणµ और अÊयमन×कता वाले 
_माने मƶ एकाĀ होकर कोई काम कर पाना बƓत मुिÕकल है। टेलीिवजन, लाउड ×पीकर, टेलीफोन, िमč और संबंधी आिद इस 
अÊयमन×कता के िविभȃ कारण हैं। इसिलए, हमƶ अपने मन को एकाĀ करने के Ēयास अपने अंदर से ही करने चािहए। 
 
िकसी एक ही ची_ पर गहन और अबाध Éयान को एकाĀता के ƞप मƶ पिरभािषत िकया जा सकता है। जब हम कुछ रोचक कर रहे होते 
हैं, तो Éयान को कƶ िďत करना आसान होता है ·यǂिक उस दौरान Éयान कƶ िďत करने के िलए िकसी अितिरǣ Ēयास की आवÕयकता नहƭ 
प`ती है; Éयान ×वतः ही कƶ िďत रहता है। वहƭ जब हम कोई ऐसा कायµ कर रहे होते हैं जो हमारी पसंद के Ēितकूल हो, वह हमƶ आनंद 
नहƭ देता है और Éयान को एकाĀ कर पाना मुिÕकल हो जाता है। 
 
िनरंतर अÎयास हमारी एकाĀता मƶ सुधार करने मƶ मदद कर सकता है। हमƶ िकसी िवशेष ×थान पर और िकसी िवशेष समय पर कायµ 
करने के िलए बैठने का Ēयास करना चािहए। यिद हम िनयिमत ƞप से ऐसा करते हैं, तो हमारा मि×तÖक भटकावǂ के बीच भी कायµ करने 



का अÎय×थ हो जाता है। पaना हमारे मि×तÖक को कƶ िďत रखने के िलए Ēिशि³त करने का एक उÆकृȌ अÎयास है। हमƶ किठन पाǯ 
सामĀी का चयन करना चािहए तािक हम जो कुछ पa रहे हैं उसे समझने की कोिशश करने मƶ हमारा मि×तÖक पूरी तरह से लग जाए। 
यिद हम Ēितिदन इस अÎयास का पालन करते हैं, तो हमारी एकाĀता मƶ अÆयतं सुधार होगा। 
हमारे मिÖतÖक मƶ िवचारǂ का Ēवाह लगातार होता रहता है। पिरणाम×वƞप, हमारा मिÖतÖक भटकने लगता है। हमƶ एक समय मƶ एक ही 
काम करने का Ēयास करना चािहए। हमƶ अपने शरीर और मिÖतÖक को शांत रखना चािहए। हमƶ अवसाद, भय अथवा िवफलता या िकसी 
भी नकाराÆमक िवचार को Éयान कƶ िďत करने की हमारी ³मता को Ēभािवत नहƭ करने देना चािहए। हमƶ सकाराÆमक सोच िवकिसत 
करनी चािहए और Éयान कƶ िďत करने के िलए हमारे मिÖतÖक को Ēिशि³त करना चािहए। यह िनिȆत ƞप से हमƶ सफलता की ओर ले 
जाएगा।
Sub questions
 
Question Number : 53 Question Id : 25498921326 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
हमƶ िनÏन मƶ से िकसके िलए एकाĀता की आवÕयकता नहƭ होती है?
Options :
1.  पठन
2.  गायन
3.  खेलने
4.  हंसने
 
Question Number : 54 Question Id : 25498921327 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से ·या हमारे Éयान को भंग कर सकता है?
Options :
1.  िवĜांत शरीर
2.  तेज Éविनयां
3.  शांत मि×तÖक
4.  एक िनिȆत िदनचयाµ
 
Question Number : 55 Question Id : 25498921328 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एकाĀता को िनÏन मƶ से िकस ƞप मƶ पिरभािषत िकया जा सकता है?
Options :
1.  सतत् Ĝम
2.  सतत् अवरोध
3.  अबािधत Éयान
4.  अबािधत भटकाव
 



Question Number : 56 Question Id : 25498921329 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से कौन सा कथन गलत है?
Options :
1.  िनयिमत कायµ घंटǂ को बनाए रख कर एकाĀता बेहतर की जा सकती है
2.  मन को भटकने देने से एकाĀता को बेहतर िकया जा सकता है
3.  किठन पाठǂ को पa कर एकाĀता को बेहतर िकया जा सकता है
4.  एक बार मƶ एक काम करते Ɠए एकाĀता को बेहतर िकया जा सकता है
 
Question Number : 57 Question Id : 25498921330 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से ·या एकाĀता को Ēितकूल ƞप से Ēभािवत करता है?
Options :
1.  िवफलता का भय
2.  सफलता की आशा
3.  सतत् अÎयास
4.  शांत मि×तÖक
   
   

QUANTITATIVE APTITUDE
Section Id : 2549898059
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898100
Question Shuffling Allowed : Yes
   

Question Number : 58 Question Id : 25498928886 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Arun ordered 15 chapatis, 4 plates of rice, 6 plates of mixed vegetable and 5 ice-cream cups. The 
cost of one chapati is ₹5, one plate of rice is ₹50, one plate of mixed vegetable is ₹75 and one ice 



cream cup is ₹20. How much amount did Arun pay to the cashier?
Options :
1.  ₹850

2.  ₹795

3.  ₹825

4.  ₹750

   

Question Number : 58 Question Id : 25498928886 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
अƝण ने 15 चपाती, 4 Ëलेट चावल, 6 Ëलेट िम·स वेिजटेबल और 5 आइसþीम कप का ऑडµर िदया। एक चपाती का मूÒय ₹5, चावल 
की एक Ëलेट का मूÒय ₹50, िम·स वेिजटेबल की एक Ëलेट का मूÒय ₹75 और आइसþीम के एक कप का मूÒय ₹20 है। अƝण Ǽारा 
कैिशयर को िकतनी रािश का भुगतान िकया जाएगा? 

Options :
1.  ₹850

2.  ₹795

3.  ₹825

4.  ₹750

   

Question Number : 59 Question Id : 25498928959 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The edge of an ice cube is 14 cm. The volume of the largest cylindrical ice cube that can be carved 
out of it is:
Options :
1.  2200 cu cm

2.  2000 cu cm

3.  2156 cu cm

4.  2400 cu cm

   

Question Number : 59 Question Id : 25498928959 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1.   
 

2.   



 

3.   
 

4.   
 

   

Question Number : 60 Question Id : 25498929022 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the following series? 
 
13 13 19 43 103 ?
Options :
1.  221

2.  227

3.  223

4.  217

   

Question Number : 60 Question Id : 25498929022 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 61 Question Id : 25498929121 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 61 Question Id : 25498929121 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 62 Question Id : 25498929496 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :
1.  ₹1,200

2.  ₹1,261



3.  ₹1,293

4.  ₹820

   

Question Number : 62 Question Id : 25498929496 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 63 Question Id : 25498929499 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Out of two sections A and B of a class, if 10 students of B shift to A, the ratio of students in A and B 
becomes 3 : 1. If 10 students of A shift to B, then the ratio of students in A and B becomes 7 : 5. 
The ratio of the number of students in A and B is:
Options :
1.  2 : 1

2.  3 : 2

3.  4 : 3

4.  5 : 2

   

Question Number : 63 Question Id : 25498929499 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एक क³ा के दो स·ेशनǂ A और B मƶ से, यिद B के 10 छाč A मƶ ×थानांतिरत हो जाते हैं, तो A और B मƶ छाčǂ का अनुपात 3 : 1 हो 
जाता है। यिद A के 10 छाč B मƶ ×थानांतिरत हो जाते हैं, तो A और B मƶ छाčǂ का 7 : 5 हो जाता है। A और B के मूल छाčǂ की 
सं¸या का अनुपात ´ात कीिजए।
Options :

1.   
 



2.   
 

3.   
 

4.   
 

   
   

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549898060
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898101
Question Shuffling Allowed : Yes
   

Question Number : 64 Question Id : 25498910145 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to 
the first word. 
 
Oasis : Sand :: Island : ?
Options :
1.  River

2.  Sea

3.  Water

4.  Waves

   

Question Number : 64 Question Id : 25498910145 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
उस िवकÒप का चयन करƶ जो तीसरे शÍद से उसी Ēकार संबंिधत है जैसे Ơसरा शÍद पहले शÍद से संबंिधत है। 
 
मƝǼीप : रेत :: Ǽीप : ?



Options :
1.  नदी
2.  समुď
3.  पानी
4.  लहर
   

Question Number : 65 Question Id : 25498912924 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Study the given letter series and answer the question that follows. 
 
H D Y S M W N B Q P O C R T B L Z V E G U F 
 
Which three letters have the same distance between them as they have in the alphabetical order, 
though they have changed places?
Options :
1.  HMP

2.  NQZ

3.  QOE

4.  YLF

   

Question Number : 65 Question Id : 25498912924 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
नीचे दी गई अ³र-शृंखला का Éयानपूवµक अÉययन कीिजए और उससे संबंिधत Ēȋ का उǶर दीिजए। 
 
H D Y S M W N B Q P O C R T B L Z V E G U F 
 
शृंखला के िकन तीन अ³रǂ के बीच उतने ही अ³र हैं िजतने अĀेंजी वणµमाला उनके बीच हैं, हालांिक उनके ×थान बदल िदये गये हैं?
Options :
1.  HMP

2.  NQZ

3.  QOE

4.  YLF

   

Question Number : 66 Question Id : 25498918992 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The following sentence has the first word and the last word left out. Select the pair from among 
the given options that will fill the blanks so that the sentence becomes true and sensible. 
 
________ is to Cork as Box is to ________.



Options :
1.  Spout – Create

2.  Wine – Hat

3.  Bottle – Lid

4.  Bottle – Crate

   

Question Number : 66 Question Id : 25498918992 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत वा·य मƶ से Ēथम और अिंतम शÍद हटा िदए गए हैंI िदए गए िवकÒपǂ मƶ से उस शÍद-यु¹म का चयन कीिजए जो िनÏन 
वा·य के िरǣ ×थानǂ पर आकर इसे साथµक ƞप मƶ पूणµ कर सके। िवकÒपǂ मƶ से केवल एक शÍद-यु¹म ही सही है। 
______ का कॉकµ  से वही संबंध है, जो संबंध ब·से का _______ से हैI 
Options :
1.  टǂटी – सृजन
2.  वाइन – टोपी
3.  बोतल – ढ·कन
4.  बोतल – þैट
   

Question Number : 67 Question Id : 25498919892 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. 
Select the one that is different.
Options :
1.  Tomato

2.  Carrot

3.  Ginger

4.  Potato

   

Question Number : 67 Question Id : 25498919892 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िवकÒपǂ मƶ चार शÍद िदए गए हैं िजनमƶ से तीन िकसी Ēकार से संगत हैं, जबिक एक असंगत है। उस असंगत शÍद का चयन कीिजए।
Options :
1.  टमाटर
2.  गाजर
3.  अदरक
4.  आलू
   



Question Number : 68 Question Id : 25498939861 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. 
Select the one that is different.
Options :
1.  Iron

2.  Nickel

3.  Cobalt

4.  Aluminium

   

Question Number : 68 Question Id : 25498939861 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िवकÒपǂ मƶ चार शÍद िदए गए हैं िजनमƶ से तीन िकसी Ēकार से संगत हैं, जबिक एक असंगत है। उस असंगत शÍद का चयन कीिजए।
Options :
1.  आयरन
2.  िनिकल
3.  कोबाÒट
4.  एÒयुमीिनयम
   

Question Number : 69 Question Id : 25498939947 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
This question consists of six statements followed by options consisting of three statements put 
together in a specific order. Select the option that indicates a valid argument containing logically 
related statements, that is, where the third statement is a conclusion drawn from the preceding 
two statements. 
 
A : No window is a door. 
B : All poles are doors. 
C : No pole is a window. 
D : Some poles are not windows. 
E : Some windows are poles. 
F : Some doors are not windows.
Options :
1.  ABC

2.  ACB

3.  BDA

4.  DFA

   

Question Number : 69 Question Id : 25498939947 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
नीचे िदए गए Ēȋ मƶ छः कथन िदए गए हैं िजसके बाद िवकÒपǂ मƶ िविशȌ þम मƶ रखे गए तीन-तीन कथनǂ के अनुþम िदए गए हैं। 
िवकÒपǂ मƶ से उस अनुþम का चयन कीिजए िजसके अनुसार यह तकµ  वैध होगा िक, 'तीसरा कथन पहले दो कथनǂ से ĒाËत िनÖकषµ है।' 
 
 
A: कोई भी िख`की, दरवाजा नहƭ है। 
B: सभी खंभे, दरवाजे हैं। 
C: कोई भी खंभा, िख`की नहƭ है। 
D: कुछ खंभे, िख`िकयां नहƭ हैं। 
E: कुछ िख`िकयां, खंभे हैं। 
F: कुछ दरवाजे, िख`िकयां नहƭ हैं। 
Options :
1.  ABC

2.  ACB

3.  BDA

4.  DFA

   
   

GENERAL AWARENESS
Section Id : 2549898061
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898102
Question Shuffling Allowed : Yes
   

Question Number : 70 Question Id : 2549895373 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Why is the Himalayan region poor in mineral resources?
Options :
1.  The Himalayan region is made up of crystalline rocks.

2.  The displacement of rock strata has disturbed the arrangement of rocks and made it 
complex.



3.  The climatic conditions are not suitable for exploration of minerals.

4.  The rugged terrain makes exploration of minerals difficult and costly.

   

Question Number : 70 Question Id : 2549895373 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िहमालय ³ेč मƶ खिनज संसाधनǂ की माčा सबसे कम ·यǂ है?
Options :
1.  िहमालय ³ेč िþ×टलीय चǩानǂ से बना है।
2.  चǩानǂ के िव×थापन ने चǩानǂ की परतǂ को अȅवि×थत कर िदया है और इसे जिटल बना िदया है।
3.  यहाँ की पयाµवरणीय ि×थितयां खिनजǂ के अÊवेषण के िलए उपयुǣ नहƭ हैं।
4.  ऊब`-खाब` ³ेč होने के कारण खिनजǂ की खोज कर पाना मुिÕकल और महंगा है।
   

Question Number : 71 Question Id : 25498912541 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a site for in-situ method of conservation of flora?
Options :
1.  Biosphere Reserve

2.  Botanical Garden

3.  National Park

4.  Wildlife Sanctuary

   

Question Number : 71 Question Id : 25498912541 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से कौन सा ×थल वन×पितयǂ के यथा-×थान (in-situ) संर³ण की िविध से संबंिधत नहƭ है?
Options :
1.  बायोि×फयर िरजवµ
2.  वन×पित उȁान
3.  राȍीय उȁान
4.  वÊय जीव अÎयारÅय
   

Question Number : 72 Question Id : 25498912794 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Who among the following was named the White Lightning in cricket?
Options :
1.  Adam Parore (New Zealand)



2.  Allan Donald (South Africa)

3.  Ben Hollioake (England)

4.  Dion Nash (New Zealand)

   

Question Number : 72 Question Id : 25498912794 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िþकेट मƶ िनÏन मƶ से िकसे 'Ôहाइट लाइटिनंग' की सं́ ा दी गई थी?
Options :
1.  एडम परोरे (Êय_ूीलैंड)
2.  एलन डोनाÒड (दि³ण अēीका)
3.  बेन होिलओके (इं¹लैंड)
4.  िडओन नैश (Êयूजीलैंड)
   

Question Number : 73 Question Id : 25498932031 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following names are associated with the classical music? 
 
1.Swami Haridas 
2.Syama Shastri 
3.Thyagaraja
Options :
1.  Both 1 and 2

2.  Both 2 and 3

3.  Both 1 and 3

4.  1, 2 and 3

   

Question Number : 73 Question Id : 25498932031 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से िकन नामǂ का संबंध शा×čीय संगीत से है? 
 
1. ×वामी हिरदास 
2. Õयामा शा×čी  
3. Æयागराज
Options :
1.  केवल 1 और 2
2.  केवल 2 और 3
3.  केवल 1 और 3



4.  1, 2 और 3
   

Question Number : 74 Question Id : 25498933662 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Despotism is possible in a: 
Options :
1.  one party state

2.  two party state

3.  multi-party state

4.  two and multi-party state

   

Question Number : 74 Question Id : 25498933662 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏन मƶ से िकस ȅव×था मƶ िनरंकुशवाद (Despotism) संभव है?
Options :
1.  एक पाटɥ रा¾य
2.  दो दलीय रा¾य
3.  बƓदलीय रा¾य
4.  दो और बƓदलीय रा¾य
   

Question Number : 75 Question Id : 25498935907 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
When cadmium ion (Cd2+) reacts with hydrogen sulfide (H2S), it forms _____________.
Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 75 Question Id : 25498935907 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
जब कैडिमयम आयन (Cd2+) हाइĊोजन सÒफाइड (H2S) के साथ Ēितिþया करता है, तो यह_______ बनाता है।
Options :

1.   
 

2.   
 

3.   
 

4.   
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Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
Summer camps are supervised camps conducted to entertain as well as equip students with 
various life skills such as teamwork, socializing, decision making, independent and 
responsible living and more. It aids the overall development of a child and children have fun 
during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498941469 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
Portland cement is the basic ingredient of concrete. Concrete is formed when portland 
cement creates a paste with water that binds with sand and rock to harden. Cement is 
manufactured through a closely controlled chemical combination of calcium and silicon and 
aluminium and iron and other ingredients. Many other commonly available natural 
materials are also used to manufacture cement. Limestones and clay are some of those 
materials. These ingredients are heated at high temperatures. On heating they form a rock 
like substance that is grounded into the fine powder that we commonly think of as cement. 
Bricklayer Joseph Aspdin first made portland cement early in the nineteenth century by 
burning powdered limestone and clay in his kitchen stove. He laid the foundation for an 
industry with his crude method. Cement plant laboratories check each step in the 
manufacture of portland cement by frequent chemical and physical tests. The labs also 
analyse and test the finished product to ensure that it complies with all industry 
specifications. The most common way to manufacture portland cement is through a dry 
method. The first step is to quarry the principal raw materials. Mainly limestone and clay 
and other materials are used. After quarrying the rock is crushed. This involves several 
stages. The first crushing reduces the rock to a maximum size of about six inches. The rock 
then goes to secondary crushers or hammer mills for reduction to about three inches or 
smaller. The crushed rock is combined with other ingredients such as iron ore or fly ash. It is 
then grounded and mixed and fed to a cement kiln. The cement kiln heats all the 
ingredients to about twenty seven hundred degrees fahrenheit in huge cylindrical steel 
rotary kilns lined with special firebrick. Kilns are frequently as much as Twelve feet in 
diameter. They are large enough to accommodate an automobile and longer in many 
instances than the height of a forty story building. The large kilns are mounted with the axis 
inclined slightly from the horizontal. The finely ground raw material or the slurry is fed into 
the higher end. At the lower end is a roaring blast of flame. This flame is produced by 
precisely controlled burning of powdered coal or oil under forced draft. Sometimes 
alternative fuels or gas is also used to produce this flame. The material moves through the 
kiln from top to bottom. During this movement certain elements are driven off in the form 
of gases. The remaining elements unite to form a new substance called clinker. Clinker 
comes out of the kiln as grey balls. The size of these clinkers is about the size of marbles. 
Clinker is discharged red hot from the lower end of the kiln and generally is brought down 
to handling temperature in various types of coolers. The heated air from the coolers is 
returned to the kilns. This process that saves fuel and increases burning efficiency. The 
cooled clinker is then grinded by the cement plant. It is then mixed with small amounts of 
gypsum and limestone. Cement is so fine that one pound of cement contains around one 
hundred and fifty billion grains. The cement is now ready for transport to ready mix 
concrete companies. The modern dry process is the most popular and most common way to 
manufacture cement.
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Question Number : 78 Question Id : 25498944390 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उÊहƶ एक िहरण िदखा। जÒदबाजी मƶ तीर िनकालते 
Ɠए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर बƓत ददµ मƶ था और गु×से मƶ भी।
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Question Number : 79 Question Id : 25498945136 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
ऐसा कहा जाता है िक ´ान ताकत है। ´ान ने हमƶ िव´ान और तकनीक के सभी ³ेč मƶ Ēगित करने मƶ स³म बनाया है िजसे हम हािसल 
करने मƶ समथµ हैं। इसने हमƶ इस धरती पर कही अिधक स³म शीषµ और सफल Ēाणी बनाया है। ´ान Ēाथिमक कारक है जो सही मायनǂ 
मƶ जानवरǂ से मानव जाित को अलग करता है। ´ान मानव और यथाथµ या सूचना के बीच की कडी होती है। ´ान की खोज कदािप सरल 
नहƭ मानी जा सकती। ´ान ही है जो किठन से किठन सवालǂ को सुलझा देता है। हमारी धारणा और तकµ  का हमारा िनजी बल कम से 
कम Ēयासǂ के साथ Ơसरǂ से दोहरया जा सकता है। अगली पीढी सदैव िपछली पीढी से ´ान और सूचनाǓ के सĀंहण के मामले मƶ दो 
कदम आगे रहती है। पाठशाला िश³ण के Ēारंिभक वषµ के दौरान िश³ा सरल होती है जैसे जैसे छाč बडा होता है उसके बडे होने के 
साथ ही उसके शैि³क अिभलेख की िवशेष धाराǓ का आगमन होता है तािक वह उस ³ेč मƶ द³ता और कौशल हािसल करƶ िजसमƶ वे 
अपना भावी कल बनाना चाहता है। इस तरह के ´ान का कोई उपयोग नहƭ है जो खुद के या िकसी और के िवनाश के िलए मागµ गढता 



है। ´ान को आपको जीवन मƶ सही तरीके से अपने और समाज के िलए उपयोगी बनाना चािहए। महान इंसानǂ ने अपने ´ान को सही 
उपयोग के िलए रखा है और इस धरती पर लंबे समय तक याद की जाने वाली उंचाइयǂ तक पƓंच गए हैं। ´ान के Ēयोजन को जानने के 
बाद लोगǂ को ´ान हािसल करने और इसका उपयोग करने के संभािवत अवसरǂ को देखना चािहए। मूल ƞप से चार Ēकार के ´ान हैं 
िजसे बƓत कम उĖ से छाčǂ को िसखाना जƝरी है। साधारण ´ान छाčǂ को Ɵिनया मƶ घटनाǓ के बारे मƶ अपने ´ान को िवकिसत करने 
मƶ मदद करता है। िकसी पद का अथµ ´ान और पाठक पर िनभµर करता है। पढना ´ान का बेहतर Ğोत है यह न केवल िलिखत अथµ को 
बढाता है यहां तक िक समझने की ³मता को भी आसान बनाता है। जैसा िक पहले ही बताया पढना ´ान के िलए सबसे बेहतर Ğोत है 
वहƭ यह छाčǂ की पदावली कौशल िवकिसत करने की कंुजी भी है। िजतना अिधक हम पढते हैं उतना ही हम अलग अलग पदǂ को 
सीखते हैं और उनका उपयोग कैसे और कहां करना है ये सीख पाते हैं। िश³ा मƶ पूवµ ´ान की जƝरत को समझा जा सकता है। िकसी 
िवषय के बारे मƶ पवूµ का ´ान वैचािरक समझ से भी िलया जा सकता है। अथाµत यह छाčǂ को क³ा से Ơर ले जाता है और िफर बाहरी 
Ɵिनया के करीब लाता है। चचाµ और वाद िववाद छाčǂ के वैचािरक ´ान को िवकिसत करने मƶ भी सहायक है। बƓत सी बिढया िकताबƶ 
बƓत सारी जानकारी से भरी होती हैं िजसमƶ गहरे अथµ समािहत होते हैं। माता िपता अपने बालकǂ को पवूµ ´ान Ēदान करने मƶ जƝरी 
भूिमका िनभाते हैं। यह इसके कारण भी है िक एक बालक की िश³ा घर पर शƞु होती है और उनके माता िपता उनके पहले िश³क होते 
हैं। माता िपता के बाद एक बालक की सीखने की Ēिþया मƶ िश³क जƝरी भूिमका िनभाते हैं। उनके िलए यह समझना जƝरी है िक वे 
िकसी िवषय के बारे मƶ पहले से िकतना जानते हैं िजससे उनका परी³ण कर सकƶ ।
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